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‘The graph of a function f* [-2. p] — R 1s shown below.

The average value of / over the interval [-2, ] is zero.
The area of the shaded region is %

Ifthe graph is a straight line, for 0 <x <, then the value of pis
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Let f(x) = @™ and g(x) = bx"_ where a, b, m and n are positive integers. The domain of /= domain of g =R
I££/(x) is an antiderivative of ¢(x), then which one of the following must be true?

A 7 isaninteger

B. 2 isaninteger
m

c. % is an integer

b
D. = isaninteger
a

E. n-m=2
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‘The sample space when a fair die is rolled is {1, 2,3, 4, 5, 6}. with each outcome being equally likely.
For which of the following pairs of events are the events independent?

A {L23}and {12}

11,2} and (3,4}

{1,3.5} and {1.4,6}

{1.2}and {1,3,4,6}

{12} and {2.4,6}

meEow
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‘The minimum number of times that a fair coin can be tossed so that the probability of obtaining 2 head on each
trial is less than 0.0005 is

A 8
B. 9
c 10
D. 1
E 12




image5.png
The graph of a cubic function f has a local maximum at (a. -3) and 2 local minimum at (b, -8).
The values of ¢, such that the equation f(x) + ¢ = 0 has exactly one solution, are

A 3<c<8

c>S3orc<-8

8<c<3

c<3orc>8

c<-8

mEow




